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1.  Many theatres have online booking systems so that people can choose events, performances and
seats from what is available, then purchase tickets online. In some systems, a diagram shows the
seats available for a performance and the user clicks on the seats required. The system calculates the
cost of the tickets and the user then pays by credit card transaction. The details of the credit card are
entered by the user and are validated. The tickets are then sent by post.
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total cost Total Cost before booking fee: £26.00

selection

attributes

[Source: http://www.birminghamhippodrome.com/]

(@) The credit card number 1325657498570988 is entered by a customer.
Identify two validation checks that can be performed on this number. [2 marks]

(This question continues on the following page)
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(Question 1 continued)

(b) Describe two ways that a customer can be sure that the credit card transaction
1S secure. [4 marks]

(c) Explain why a customer might prefer to book theatre tickets online. [4 marks]
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2. When a movie film is digitised and transferred onto a DVD, the data is compressed. Data compression
is also commonly used in MP3 players and digital television transmissions.

(a) Define the term data compression. [2 marks]

(b) Describe the process of digitising an image. [4 marks]

(This question continues on the following page)
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(Question 2 continued)

(c) Explain why data compression is used when transferring a movie to a DVD. [4 marks]
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3. When a document is typed using a word processor, it is possible to insert a wide variety of symbols
from many different languages. The resulting document can be saved in various file formats such

as RTF, text or PDF.
Symbols I Special Characters ]
Font:  [(normal text) =] subset: [Latin-1 =l
I"#$%&'()*+,-.f0123456?89:;ﬂ
<|=[=|?|@A|B|C|D|E|F|GH[I|]K|LM|N[O|P|Q|R|3|T|U|V|W:
YZ 0[NV M ] [alb|cld]e|flg|lh]i]i|k|]|m[n]|o|p|a|r]s
tlu|vlwlz|ylz[ ([} ]~] [ilg|£[2[¥] L8] 1©2]«|-]|-[®|°
REEENOEREEEAAA A|A|A|A|E|C|E|E|E|E|T
I|I|1[p[|O[O|0|0|0]|x|@|u|T D|B|alala|a|ald|=|g|e
Elelelii|T]i]|8]|f]|d|S6[8[8]¢ slaluly|p|v|Alald]a]a
a|C[¢[Cle[Cle[Cle[D|a[D|a|E[[E[ e [E[ e [E[ ¢ [E[2[C]2]G]2]G
AutoCorrect... | Shortcut Key. .. | Shortcut key:  Ctrl+:,Shift-+U
IME Pad I Insert I Cancel I

A passage was typed in Greek and saved as an RTF file. When viewed in a word processor,
it appeared as below:

Mnopei ol d1IadNAWOEIC TWV EPYALOMNEVWV
Kal ol dladapTupieg TwV onadwy Tou
MAOK va digkdiknoav Mg €VTUNWOEIG ano
TIG YEVIKOAOYEG £EAYYEAIEG TOU
npwBunoupyou om AE®O.

When saved as a text file, and re-opened, it appeared like this:

7p?%? 77 d?7ad??7se?? 177 2722717777
7a? 77 d?7apa?t???e? t7? ?pad?? t??
777? ?7a d?e?d??7sa? t?? e?t?p?se?? ap?

(a) Identify two coding systems used to store characters in computer files. [2 marks]

(This question continues on the following page)
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(Question 3 continued)

(b) Describe two ways that a Rich Text Format (RTF) file differs from a text file. [4 marks]

(c) Explain why the PDF format is often chosen to send documents between
computers. [4 marks]
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4.  When customers visit a supermarket, they do not expect to wait in checkout queues for too long,
however the supermarket manager cannot afford to have all the checkouts open all of the time.

In an attempt to solve the problem the supermarket manager may decide to make a computer model
using a spreadsheet to calculate the optimum number of checkouts that should be open at any time.

(a) Define the term computer model. [2 marks]

(b) Describe two inputs into the model that would be needed in order to calculate the
best number of checkout operators. [4 marks]

(This question continues on the following page)
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(Question 4 continued)

(c) Explain why this or any other computer model may not give accurate results. [4 marks]
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